Tabanuua 3. BapuanThl 3ananxs 4

B:s’: danaua B:E: Sapaua
Z(X) = x, + 4x, + x3 — max, Z(X)=—2x; — 2x5 — 2x3 — min,
j-xl+2x2+ x3 =4, X, + x5+ 2x3< 4,
1 3xy + xp+2x3<9, 16 x; - X3+ x3=2,
12x1+3x2+ x3 » 6, 3x,+x2+2§3>6,
x;20,j=1,2,3 x;20,j=12,3
Z(X) = 2x, + x5 — xg — min, Z(X) = —3x; — 2x, — 2x3 — min,
2x, +x3- x325, x,+ xg + x3 23,

2 X, +2xy+ x3<1, 17 x; +x3<2,

Xy - xp+2x3=1, X, - %y —x3=-1,
x;20,j=1,2,3 x;20,j=1,2,3

Z(X) = x; — x5 + X3 — max, Z(X) = -2x, + 8x, + 3x3 — min,
4x, + 2x5+ x3 26, 3x; + x5+ 2x3 212,

3 —x,+ x93+ x3=1, 18 xy+ x3+ x3=8,

x; - Xo+ 4x3< 24, [2x1*3x2+ x3 > -8,
x;20,j=1,2,3 xj>0,j=1,2,3

Z(X) = 5xy + 2x3 + x3 — max, Z(X) = 6x, + Txy + 9x3 — min,
x,+ x3t+ x323, xy + 2x9 + 2x3 2 5,
4 xp + 2%, + 223 = 4, 19 —xp+ xp+ x3=2,
3x, +4x, +2x3< 12, ~X]— Xpt+ X322 -2,
x;20,j=1,2,3 x;20,j=1,2,3

Z(X) = x; - 8xy — 3x3 — max, Z(X) = 5x, + 2x3 + x3 — max,
3x; + x5+ 2x326, xy+ x9+ x3=3,

5 X+ x3+ x3=4, 20 2x,+ xpt+ x324,
xq—8xy+ x3<—4, 3x; + 2x5 — 2x3 < 12,
x;20,j=1,2,3 x;20,j=1,2,3

Z(X) = —x; — 3x5 — X3 —* max, Z(X) = 6x, — x5 + 3x3 — max,
3x, + xp+x326, 2x; + 2xy + x3 26,

6 x; + 3xy + x3 =10, 21 —x1+ xg+x3=1,
xy - 3xy+ x3< -2, —xy+ xgt+x3>-7,
x;20,j=1,2,3 x;>20,j=1,2,3 |

Z(X) = x; + 4x4 + 3x3 — max, Z(X) = 2x, + 2x5 — 3x3 > Max,
x; — 8xy + 2x3= 3, 3x, + x5 +3x3> 6,
7 2x; + 4xy + x3< 18, 22 Xyt xgt+ x3=4
-x; + xy + 323 > 10, 3x; —8xy+ x32 4
xj>0,i=1,2,3 xj>0,j=1,2,3 s
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Z(X) = —4x. = aHT 3anaua
)= A% = 85 - 2y~ max, Z(X) =
4%+ xp+ 225> 8 %1 +3x5 + 23~ min,
8 2x1+‘ xz_ x3=6 2 3x]_+ x2+x3>6’
Xy - 3x2 xa 4 1 + 3x2 + X3 = 10,
x;20,j=1,2,3 SO
’ ’ >O,=1 2 3
ZX) = 4x, + o
17X + 3x, —
¥17 Xp—2x3=3, 2xy + 8xy — 2x4 =2
9 X+ 8xy+ x4 I+ e =y &
3x1- x2+ x3;4 24 ~8x, — 6xy + 323 > -5,
1 2 x3\12 4x1+3x2__ x3=3’
. >0.7=
ZX x] 0:.’ 1$233 xj>0|j=1,2,3
(X) = x; — 3x5 — 2x3 — max, Z(X) = 2x, + 2x5 - 5xg — min,
3x1+ x3 — 2x3 > 13, 2x, - 22y + 3% > 12,
10 - 3x+ x3=1, 25 X - X3t x32-2,
x1+2x2+3x3 <11, 2x, - xg+ 2x3 =24,
xj/0,1=1,2,3 xj>0,j=1.2,3
Z(X) = 8x; + 2x5 + 2x3 — min, Z(X) = x| + 2% + 2x3 — min,
3x1+2x2—2x3>11, X1~ x2+4x3<-—1,
11 x1—6x2-—3x3=—23, 26 x; - 2%y + 223 =2,
._..xl+ X9 — x3>—2, x1+2x2~2x3<6,
x.20,j=1,2,3 xj20,j=1,2,3
Z(X) = 3x; + 2xp + 3x3 — max, Z(X) = 5x; + Txp + 9x3 — max,
-X1 x2+2x3€'“2, [ X~ X2+ 13”6,
19 —xy + 2% x3 <4, 27 j% xy—2%9~ x3 ? -8,
x0,j=1,23 %20,j=1.23
p—————— = "”4 "”min.
Z(X)—'x1+2x2+x3‘*max’ AX)y=n ¥ 52"
-3124'2;3("3.
1 T 4 +2x9 + 1‘3‘5.
+xp+x3=3 25 1 ’
13 xl 2 8 i xl -~ Xa~ 313 = 7i
pO j=1 2,3
T Zx- 3xa*2f~ Sy 7 MR
Z(X)==211+x2+ *3 T x,\-ﬂ‘
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